H & 0l & AHS B Ml A

NBEE £ 2 5] UBKSIN QIFZAD  2023-09-24 14:39:54
A BIEAD
Hu: OlSED WNE AS25 T4
o9l OIBCHR EHEY ZHALY (chol @)
SA - BB - GR(SIH) - HIRAY - BES 0 & ol B o HIRS2
SETEE 3,620,471 3,486, 138 144,333
2 304,867 298,347 26,520
< 41,119 12,540 28,579
2 3,264,485 3,175,251 89,234
OLSED WG A=25 =4 34,711 333,578 61,133
2 600 0 600
= 31,119 12,540 18,579
2 362,992 31,038 41,954
OIECI2 FHEZ THAY 47,941 286,808 61,133
2 600 0 600
= 31,119 12,540 18,579
2 316,222 274,268 41,954
=0jE BIEIEY| 21,600 20,400 1,200
= 6,480 6,120 360
2 15,120 14,280 840
402 QI2FXH0IH 21,600 20,400 1,200
= 6,480 6,120 360
= 16,120 14,280 840
02 DIRIXHE AL B E (OIFTHR) 21,600 20,400 1,200
OZHI2ZAS 21,600 20,400 1,200
— BRI (LPRIE)
1,200,00021+185 21,600 20,400 1,200
= 6,480 6,120 360
2 15,120 14,280 840
SH0IEXNE LY 14,400 20,400 76,000
= 4,320 6,120 A1,800
= 10,080 14,280 A4,200
402 QI2EXHR0IH 14,400 20,400 76,000
= 4,320 6,120 A1,800
2 10,080 14,280 4,200
02 RIIXH AL 2 (OIFTHE ) 14,400 20,400 6,000
OZHI 2 ZAS 14,400 20,400 6,000
—BIYZHI(SY0IEXS)
600, 00021%24% 14,400 20,400 16,000
= 4,320 6,120 A1,800
2 10,080 14,280 A4,200
AR BEFE 22 XA 60,733 0 60,733
= 18,219 0 18,219
2 42,514 0 42,514
402 QI2EXHRO0IH 60,733 0 60,733
= 18,219 0 18,219
2 42,514 0 42,514
02 BIRIXFE AL (OIE THE ) 60,733 0 60,733




S DI AL
Hu: OlSED WNE AS25 T4
CHol: OISCHE =&Y ZA&AIY (el mel)
SA - B S9(SH) - NIRAY - BES o ar o HIDS2
SENEENE 60,733 0 60,733
—ARDTEFLT AL
60,733,00021 14} 60,733 0 60,733
= 18,219 0 18,219
2 42,514 0 42,514
HIZAHHHEL OIAH] XIRANS 1,200 0 1,200
2 600 0 600
= 600 0 600
402 QI2FXH0IH 1,200 0 1,200
2 600 0 600
= 600 0 600
02 DIRIXHE AL B X (OIFTHR) 1,200 0 1,200
GELIEEINE 1,200 0 1,200
—HIHAHHAET OlA] XA &2
&) 200, 00024 +3KCH 600 0 600
= 600 0 600
—HIHAHHAET Ol XIR A
200, 000243 CH 600 0 600
= 600 0 600
HAMIADI TSR H2ICHS OIRKIE Abel 4,000 0 4,000
= 1,200 0 1,200
2 2,800 0 2,800
301 Y EFZ 4,000 0 4,000
= 1,200 0 1,200
2 2,800 0 2,800
03 ALSI 2= 4512 (XL W) 4,000 0 4,000
OZHIEE A 4,000 0 4,000
— KA TIGHAH M2lCHS Ol KHKI
400, 000214522 CH 4,000 0 4,000
= 1,200 0 1,200
2 2,800 0 2,800
II2S 2 MEOIR 2o 1,162,567 1,079,367 83,200
2 25,920 0 25,920
= 10,000 0 0,000
2 1,106,647 1,079,367 47,280
RS o MEBOIR Helgt 2 1,162,567 1,079,367 83,200
= 25,920 0 25,920
= 10,000 0 0,000
2 1,106,647 1,079,367 47,280
M0 Helo 2Y 206,599 186,599 20,000
401 Al&EI L S OHE] 114,199 %, 199 20,000
01 Al 114,199 4,199 20,000
OMZIRATL 114,199, 00021%14] 114,199 %, 199 20,000
loT)I8t CREHAY| AAFAMH PEAY 43,200 0 43,200




FA QESARD
I RS € 4209 2l
SRl JI2S E 4E03 X2l 29 (St &)
A -3 - SRA(3H) - HRAE - BES Ofl &F2H I3 A Hwusz
= 25,920 0 25,920
s 17,280 0 17,280
401 AlEHIZL S0 43,200 0 43,200
= 25,920 0 25,920
= 17,280 0 17,280
01 Al&H| 43,200 0 43,200
O=HI2XAIS 43,200 0 43,200
—loT|Et C2XH Y| AAZFSHA &X
216,000 200 43,200 0 43,200
= 25,920 0 25,920
[Ea 17,280 0 17,280
7EY B2 252 ZEAY 20,000 0 20,000
= 10,000 0 10,000
= 10,000 0 10,000
401 AIZHIZL R0 20,000 0 20,000
T 10,000 0 10,000
i 10,000 0 10,000
01 AlZH| 20,000 0 20,000
OTHIEXAISE 20,000 0 20,000
-7 HEE 352 ZMS[EER] 10,000 0 10,000
Eieta S®A!LED S)17 X
500,000 *207H £ 10,000 0 10,000
= 10,000 10,000
-7y BRE 252 TEMY 10,000 10,000
Efeta S®A!LED S)17 X
500,000 *200H 2~ 10,000 0 10,000




